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Question 1 (3 marks)
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Question 2 (3 marks)
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Note: Accept consequential result from incorrect values obtained for tan(x).

Question 3 (2 marks)
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Question 4 (3 marks)
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Note: Accept any of the expressions shown above for I.
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Question 5 (4 marks)
Let D be the time it takes in hours to build a deck: ( )2~ 12,  4 .D N  

Let P be the time it takes in hours to build a pergola: ( )2~ 10,  3 .P N  
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Let Z be the standard normal variable for D – P.
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Question 6 (6 marks)

a.	 	 1 1x t t x= + ⇒ = −

2

2

2

2

3

( 1) 3( 1)

2 1 3 3

2

y t t

x x

x x x

x x

= +

= − + −

= − + + −

= + −	 M1 

b.	

1 2 3 4 5

10

20

30

40

50

–1–2–3– 4–5
–10

–20

–30

– 40

–50

y

x
0

(1, 0)

correct shape A1
correct endpoint and direction A1

c.	 	speed r= 


2 2

2

r( ) i (2 3) j

r (1) (2 3)

4 12 10

t t

t

t t

= + +

= + +

= + +



 







	
M1

	 A1

2r 5 2 4 12 10 5 2t t= ⇒ + + =



2

2

4 12 10 50

3 10 0
5 or 2

2 (since 0)

t t

t t
t t
t t

+ + =

+ − =
= − =
= ≥ A1



VCE Specialist Mathematics Units 3&4 Trial Examination 1 Suggested Solutions

6	 SMU34_SS_Ex1_2022 	 Copyright © 2022 Neap Education Pty Ltd

Question 7 (5 marks)
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Question 8 (5 marks)

a.	 Method 1:

[ ]
( ) ( )

70 5

100 0
70 5

0100

1
10

1
10

log 10

log 60 log 90 5

1 60log
5 90
1 2log
5 3

e

e e

e

e

dT kdt
T

dT kdt
T

T kt

k

k

=
−

=
−

 − = 

− =

 =  
 
 =  
 

∫ ∫ 	 M1

	 A1

	 M1



VCE Specialist Mathematics Units 3&4 Trial Examination 1 Suggested Solutions

Copyright © 2022 Neap Education Pty Ltd	 SMU34_SS_Ex1_2022	 7

Method 2:
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b.	 Method 1:
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Question 9 (5 marks)
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Therefore, the square roots are –2 – 4i and 2 + 4i.	 A1
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Note: Consequential on answer to Question 9a.

Question 10 (4 marks)
The region bounded is between two semi-circles for [ ] [ ]1 2,1 2 1, 3 .x ∈ − + = − 	 M1
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Using the identity a2 – b2 = (a + b)(a – b) gives:
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